MPM2D Day 6: Quadratic Formula

A vt is the value of the variable that makes an equation true. It is the
same as the solution to an equation.

Recall that a quadratic equation is an equation of the form

AxA bx4¢c =0

Ify = 3x* — 6x + 11, find the x value that makes y = 10. x = ZE6) N JE)Tue)
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What happens if a quadratic equation cannot be factored? ¢
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To determine x for a quadratic equation of the form @ 2x A Yoot c= , w% G
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***Yes, it is ugly, but you must memorize this formulal***

You may for once, use a calculator!




Example 1 Use the quadratic formula to solve each quadratic equation. Where
necessary, round to four decimal places.
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Example 2 Find the x-intercepts, the vertex, and the equation of the axis of

symmetry of the quadratic relation y = —3 + 8x — 5x2. Sketch the
parabola.
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